
 

香港考試及評核局 
HONG KONG EXAMINATIONS AND ASSESSMENT AUTHORITY

香港中學文憑考試 
HONG KONG DIPLOMA OF SECONDARY EDUCATION EXAMINATION 

練習卷 
PRACTICE PAPER 

健康管理與社會關懷 試卷一 
HEALTH MANAGEMENT AND SOCIAL CARE  PAPER 1 

評卷參考 
MARKING SCHEME 

(2012 年 2 月 29 日修訂稿 ) 
(updated as at 29 Feb 2012) 

本 評 卷 參 考 乃 香 港 考 試 及 評 核 局 專 為 本 科 練 習 卷 而 編 寫 ， 供 教

師 和 學 生 參 考 之 用 。 學 生 不 應 將 評 卷 參 考 視 為 標 準 答 案 ， 硬 背

死 記 ， 活 剝 生 吞 。 這 種 學 習 態 度 ， 既 無 助 學 生 改 善 學 習 ， 學 懂

應 對 及 解 難 ， 亦 有 違 考 試 着 重 理 解 能 力 與 運 用 技 巧 之 旨 。  

This marking scheme has been prepared by the Hong Kong Examinations and 
Assessment Authority for teachers’ and students’ reference. This marking 
scheme should NOT be regarded as a set of model answers. Our examinations 
emphasise the testing of understanding, the practical application of knowledge 
and the use of processing skills. Hence the use of model answers, or anything 
else which encourages rote memorisation, will not help students to improve their 
learning nor develop their abilities in addressing and solving problems. 

香 港 考 試 及 評 核 局  保 留 版 權  

Hong Kong Examinations and Assessment Authority 
All Rights Reserved 2012 

PP-DSE-HMSC 1–1 

http://www.studentbounty.com/
http://www.studentbounty.com


Marking Scheme 


General Notes for Teachers on Marking 


1.	 This marking scheme has been updated, with revisions made after the scrutiny of actual samples of student 

performance in the practice papers. Teachers are strongly advised to conduct their own internal standardisation 

procedures before applying the marking schemes. After standardisation, teachers should adhere to the marking 

scheme to ensure a uniform standard of marking within the school. 

2. 	 The marking scheme may not exhaust all possible answers for each question. Teachers should exercise their 

professional discretion and judgment in accepting alternative answers that are not in the marking scheme but are 

correct and well reasoned. 

3.	 The following symbols are used: 

( ) Bracketed words, figures or ideas are not essential for the candidate to be awarded the point. 

/ A single slash indicates an acceptable alternative within an answer. 

+ 	 A plus sign indicates that there are two pieces of information necessary to be considered: the 

first piece of information must be correct before the second one awarded the point. 

* Correct spelling required 

4.	 In questions asking for a specified number of reasons or examples etc. and a student gives more than the required 

number, the extra answers should not be marked. For instance, in a question asking students to provide two 

examples, and if a student gives three answers, only the first two should be marked. 
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MARKING SCHEME
 

PAPER 1
 

Section A Answer Marks Remarks 

1. a. This employer violates the “Race Discrimination Ordinance”. 1 

b. Ethnic minority / Non-Chinese 1 

c. Rationale of “Race Discrimination Ordinance” 

 To protect people against discrimination, harassment and 

vilification on the ground of their race 

 so that people of different races can live and work as one 

community/ can have equal opportunities in areas such as 

employment, education, etc. 

1 + 1 

Total: 4 

2. a. Possible reasons (any TWO of the following) 

 The number of divorces/ family breakdowns/ single parents has 

increased in the past 30 years. 

 People prefer to marry later in life/ remain single and thus the 

relative chance of having children decreases. 

 Family concept has changed with fewer extended families/ 

more nuclear families. 

 The better use of contraceptive methods/ Family planning 

reduces the number of unplanned pregnancies/ children. 

(or any other reasonable answer) 

2 x 1 

b. Possible impact 

As the average domestic household size decreases, there may be 

fewer members of various roles (e.g. only father or mother in single 

parent families, fewer siblings) in a family. This may affect the 

social development of the child (attitudes, beliefs and values). 

(or any other reasonable answer) 

1 + 1 

Total: 4 
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Section A Answer Marks Remarks 

3. Pros 

 Standard of services can be assured and maintained in a 

systematic manner bound by guidelines/ regulations/ policies 

of the government. 

 It allows equal opportunity for everyone to acquire medical 

services. 

 It allows centralized planning and technology development for 

the provision of quality and reliable medical services. 

4 x 1 

Answers 

should come 

from both 

sides of 

opinion 

Cons 

 It creates a heavy financial burden on the government. 

 It stretches resources and in the long run may lead to the 

raising of taxes/ depreciation of other services. 

 Citizens lack choice. 

 Some citizens may abuse the medical services. 

 Financial sustainability of the public health care 

system may be seriously affected by other factors e.g. 

the ageing population, new technology, new drugs or 

economic ups and downs. 

(or any other reasonable answer) 

Total: 4 

4. a. Increasing trend: (any ONE of the following) 

 The metabolic rate generally decreases with age. 

 The chance of doing exercise may decrease due to long 

working hours. 

1 

Answers must 

be related to 

the change in 

body weight 

Decreasing trend: (any ONE of the following) 

 Elderly become more conscious about their body weight, an 

indicator of health condition. 

 Chronic diseases commonly found in elderly may lead to 

weight loss. 

 Lean muscle mass of elderly may decrease. 

(or any other reasonable answer) 

1 

b. Difference 

The prevalence of overweight and obesity in females is always 

lower than that in males. 

Reason 

Females may be more concerned about their body image. 

(or any other reasonable answer) 

1 + 1 Award 2 

marks for 

correct 

comparison of 

prevalence 

AND reason 
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Section A Answer Marks Remarks

 c. Two limitations of BMI (any TWO of the following) 

 BMI is not sex specific. 

 BMI does not distinguish between fat and fat-free content. 

Thus it may not be suitable for assessing athletes/ practitioners 

of fitness programs with a large body frame and muscle bulk. 

 BMI is not applicable to certain groups, e.g. elderly people 

with reduced lean muscle mass may be classified as normal 

even though they have excess body fat. 

 Body figure/ type/ proportion varies among different races and 

ethnic groups, so the same BMI values may not represent the 

same degree of fatness. 

(or any other reasonable answer) 

2 x 1 

d. Indicator to assess degree of fatness (Any ONE of the following) 

 waist-to-hip ratio 

 skin fold thickness 

 waist circumference 

(or any other reasonable answer) 

1 

Total: 7 

5. a Reasons for Health Reform 

 As the ratio of the working age population to the elderly 

population decreases, there will be fewer young people to 

share the livelihood expenses of the elderly population. 

 However, public health expenditure will be increased by an 

ageing population/ longer life expectancy of the citizens/ 

inflation/ the use of advanced medical technology. 

2 x 1 

b. Two existing government policies/ measures (Any TWO of the 

following) 

2 x 2 

Policies/ Measures Explanation 

Tax incentives and 

allowances 

 to promote parenthood so as to 

reduce the number of unattended 

elderly/ to encourage couples to 

have children 

Award 2 

marks for 

each policy 

and 

corresponding 

explanation 

Admission Scheme for 

Mainland Talents and 

Professionals/ Quality 

Migrant Admission Scheme 

 to increase workforce 
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Section A Answer Marks Remarks 

Mandatory Provident 

Fund 

 to ensure elderly have savings for 

future medical expenses 

Setting up of “Elderly 

Commission” 

 to advise the Government in the 

formulation of policy concerning 

caring for the elderly 

(or any other reasonable answer) 

Total: 6 

6. a. Reason: 

Poverty in these two countries causes young children to drop-out 

from school and earn their livelihood. 

(or any other reasonable answer) 

1 + 1 

b. They cannot read and understand health or disease prevention 

information and a lower life expectancy results. 

(or any other reasonable answer) 

1 

c. Two health services (any TWO of the following)

 Health services Explanation 2 x (1, 1) 

Antenatal check-up service 

provided by hospitals or 

clinics 

 to detect any potential health 

problem with the foetus 

Award 2 marks 

for each health 

service with 

corresponding 

explanation 

Childhood immunisation 

programmes 

 to protect infants and children 

from infectious diseases 

Health and developmental 

surveillance/ 

Maternal and Child Health 

Centre check-up 

 to achieve timely 

identification and referral of 

children with health and 

developmental problems 

(or any other reasonable answer) 

Total: 7 
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Section B Answer Marks Remarks 

7. a. Due to rapid economic growth during the years of 1986 to 2007, the 

opportunity for Hong Kong people to work in the Mainland 

increased. The increasing interactions with Mainland residents 

helped to boost the number of cross-boundary marriages. 

(or any other reasonable answer) 

1 + 1 

b. Pros 

 It may give Hong Kong citizens a better chance of establishing 

a family. 

 It increases the work force in Hong Kong. 

 It increases the birth rate and alleviates the ageing problem of 

Hong Kong in the long run. 

Cons 

 Loose marital relationship (separation/ cultural differences / 

age gap) may lead to domestic violence/ child abuse. 

 Language barriers/ cultural differences may impose difficulties 

for new arrivals in trying to integrate into the society. Extra 

resources are needed to facilitate the integration process. 

(or any other reasonable answer) 

4 x 1 Answers 

should come 

from both 

sides of 

opinion

 c Difficulties in finding a job 

 The Employment Retraining Bureau provides different 

working skills training for unemployed citizens. 

Poor living environment 

 Housing Department may provide public housing to families 

of new arrivals (if half of the family members have lived in 

HK for 7 years or more) 

Poor family finance status 

 Social Welfare Department may provide CSSA for needy 

families. 

(or any other reasonable answer) 

3 x (1+1) Award 2 

marks for 

each difficulty 

with 

corresponding 

service 

PP-DSE-HMSC 1-7 

http://www.studentbounty.com/
http://www.studentbounty.com


Section B Answer Marks Remarks

 d. Informal care (by developing their social support 

networks) 

Neighbourhood networks 

 Different people in the community are linked by key 

persons for mutual support. 

Self-help groups 

 New arrivals with the same needs organise themselves so 

that they are able to support and care for each other. 

(or any other reasonable answer) 

2 x 2 Award 2 

marks for 

each informal 

care with 

corresponding 

explanation 

Total: 16 

8. a. Three major disease prevention strategies 

Strategies Explanation 3 x 2 

Real time 

surveillance 

 Reporting confirmed cases to CHP and 

the public 

 Inviting all concerned disciplines to 

monitor the proceeding situation 

Award 2 marks 

for each 

strategy with 

corresponding 

explanation 

Rapid 

intervention 

 Suspension of classes to prevent the 

spreading of swine flu 

Responsive risk 

communication 

 Arrangements for press releases to 

announce confirmed cases and affected 

areas in order to raise public awareness of 

the problem 

b.  It takes time for the body to produce enough antibodies to 

fight against the virus and to develop memory cells. 

 There is no single flu vaccine that can protect against all of 

kinds of flu virus. 

(or any other reasonable answer) 

2 x 1 

c.  The existing population does not have the immunity 

/antibodies / memory cells against the new virus/ strain. 

 The existing vaccine becomes ineffective against the new 

virus/ strain. 

(or any other reasonable answer) 

2 x 1 
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Section B Answer Marks Remarks

 d. Roles of WHO (Any TWO of the following) 

 Assessing the level of alert for influenza viruses 

 Confirmation of onset of pandemic 

 Provides support in preventing the spread of infectious 

diseases  

 Provides support for infection control preparedness 

 Provides response to public health emergencies of potential 

international concern. 

2 x 1 

e. Mistake 1 : “The Department of Health (DH) did a good job in 

coordinating different parties to tackle swine flu.” 

Elaboration : It is the job of the Centre for Health Protection (CHP) 

instead of DH to coordinate different parties in 

tackling Swine flu. 

Mistake 2 : “…the Hospital Authority (HA) under the DH…” 

Elaboration : HA does not work under the DH. 

2 x (1+1) Award 2 

marks for 

each identified 

mistake and 

corresponding 

elaboration 

Total: 16 

9. a. The death of his wife 1 

b. Two symptoms of depression (Any TWO of the following) 

 Isolation from friends and family members (ignoring his son’s 

calls; not going to the park) 

 Loss of interest (did not practise Tai chi and play Chinese 

Chess) 

 Suffered from insomnia (could not sleep at night) 

 Negative thought (did not want to live anymore) 

2 x 1 
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Section B Answer Marks Remarks

 c. Any THREE of the following 

Social aspect:   

 To widen his social network by persuading him to attend some 

community centre activities or voluntary services 

Physical aspect: 

 Ask Mr. Chan to seek medical advice from doctors and be alert 

to any early symptoms of depression 

Psychological aspect:   

 Counselling Mr. Chan to develop positive attitude of mind 

Spiritual aspect: 

 Helping Mr. Chan to find meaning in his life through various 

activities or counseling 

(or any other reasonable answer) 

3 x 2 Award 2 

marks for 

each aspect 

and 

corresponding 

advice 

d. Rationale of Active Ageing 

To optimize the opportunities for health, participation and security 

in order to enhance the quality of life as people age. 

Three main strategies (Any THREE of the following) 

Promoting personal responsibility 

 Organising public education and publicity programmes 

Strengthening community action 

 Supporting/ financing community projects of various themes 

promoting the physical and psychosocial well-being of the 

elderly in order to encourage community level participation 

Creating a supportive environment 

 Providing an extensive network of health and welfare services 

to support the elderly. e.g. elderly health centers, visiting 

health teams. 

Improving the image of ageing 

 Encouraging senior volunteerism and lifelong learning among 

the elderly so that they can achieve a sense of worthiness as 

they age. e.g. Neighbourhood Active Ageing Project (NAAP), 

Elder Academic Scheme. 

(Elaborations of the aims of elderly policy - a sense of security, a 

sense of health and worthiness and a sense of belonging from a 

holistic view will also be accepted.) 

(or any other reasonable answer) 

1 

3 x 2 

Award 2 

marks for 

each strategy 

with 

corresponding 

elaboration 

Total: 16 
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Marking Scheme 


General Notes for Teachers on Marking 


1.	 This marking scheme has been updated, with revisions made after the scrutiny of actual samples of student 

performance in the practice papers. Teachers are strongly advised to conduct their own internal standardisation 

procedures before applying the marking schemes. After standardisation, teachers should adhere to the marking 

scheme to ensure a uniform standard of marking within the school. 

2. 	 The marking scheme may not exhaust all possible answers for each question. Teachers should exercise their 

professional discretion and judgment in accepting alternative answers that are not in the marking scheme but are 

correct and well reasoned. 

3.	 The following symbols are used: 

( ) Bracketed words, figures or ideas are not essential for the candidate to be awarded the point. 

/ A single slash indicates an acceptable alternative within an answer. 

+ 	 A plus sign indicates that there are two pieces of information necessary to be considered: the 

first piece of information must be correct before the second one awarded the point. 

* Correct spelling required 

4.	 In questions asking for a specified number of reasons or examples etc. and a student gives more than the required 

number, the extra answers should not be marked. For instance, in a question asking students to provide two 

examples, and if a student gives three answers, only the first two should be marked. 
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 MARKING SCHEME
 

PAPER 2
 

Section A Answer Marks Remarks 

1. a. Possible impacts towards this family: 

(any TWO of the following) 

 Family violence will be stopped 

 Family relationships will be affected 

 Conflict between mother and son will affect the emotions of all 

family members 

 The son may feel guilty 

 This family may lose financial support if the dad is jailed 

(or any other reasonable answer) 

2 x 1 

b. Possible reasons for the husband’s behavior: 

(any TWO of the following) 

 Nina’s husband may be feeling stress as the only source of 

income for his family 

 Nina’s husband may be feeling stress due to the heavy 

workload in the company 

 Nina’s husband may be annoyed by his wife’s complaining 

 Nina’s husband may be dissatisfied by his son’s rebellious 

behavior due to puberty 

(or any other reasonable answer) 

2 x 1 

c. Local NGO that can provide supportive service to Nina and the 

relevant service provided: 

(any ONE of the following) 

Baptist Oi Kwan Social Service/ Hong Kong Caritas Family 

Service 

 Their family service may help Nina to overcome the problem 

of domestic violence and rebuild a harmonious family 

Hong Kong Gamblers Recovery Centre/ Caritas Addicted 

Gamblers Counseling Centre 

 They may help Nina’s husband to recover from gambling 

addiction 

(or any other reasonable answer) 

1 + 1 

Award 1 mark 

for the correct 

NGO and 1 

mark for the 

related service 

provided. 

Total: 6 
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2. a. Parenting style of Raymond’s mother: 

Permissive 

Influence on the personal development of Raymond: 

(any ONE of the following) 

 He may become more self-centered 

 He may not be able to finish work under supervision 

 He may not be able to follow rules 

 He will be easily satisfied 

 He will be more able to explore his surroundings 

1 + 1 Award 1 mark 

for correct 

parenting 

style and 1 

mark for the 

related 

influence. 

b. Risk factors that make Raymond vulnerable to drug use: 

(any TWO of the following) 

 Being reared in a dysfunctional family 

 Having negative self-esteem 

 Being unable to resist peer pressure 

(or any other reasonable answer) 

2 x 1 

c. Current drug treatment or rehabilitation programme for drug 

addicts in Hong Kong:(any ONE of the following) 

 Compulsory placement scheme operated by the Correctional 

Services Department 

 Substance abuse clinics operated by the Hospital Authority 

 Voluntary out-patient methadone treatment programme 

provided by the Department of Health 

 Voluntary in-patient programmes run by Caritas - Hong Kong / 

Hong Kong Christian Service / Society for the Aid and 

Rehabilitation of Drug Abusers (SARDA) 

(or any other reasonable answer) 

1 

d. Raymond’s parents can prevent their son from taking drugs 

again after rehabilitation: (any ONE of the following) 

 Showing more love and concern for him 

 Helping him to stay away from peer groups used to taking 

drugs 

 Encouraging him to develop a new target for his life and 

supporting him in achieving it 

 Participating in more meaningful activities with him 

(or any other reasonable answer) 

1 

Total: 6 
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3. a. Primary preventive measure 

Example : 

(any ONE of the following) 

 Encouraging students to wash hands 

 Encouraging students to wear masks when they get sick 

 Increasing the number of hand-washing facilities around school 

campuses 

Explanation: 

 Minimising the chance of having contact with or transmitting 

pathogens within school 

(or any other reasonable answer) 

1 + 1 

Secondary preventive measure 

Example : 

 Measure the temperatures of all students and staff in the 

morning before they enter the school 

Explanation: 

 Early detection / screening for those who are sick 

(or any other reasonable answer) 

1 + 1 

b. i) Relation of the “Book Fair” with Health Belief Model 

 Provision of health information 

1 

ii) Relation of “Clean Our School Campus” with Behavioural 

Change Model 

 Provision of chance for participating in a health promotion 

activity 

1 

Total: 6 

4. a. The influence of Laura’s overweight condition on her social 

health (any ONE of the following) 

 She may have low self-esteem and feel unable to make new 

friends 

 She may feel being discriminated by people and thus may not 

be willing to go out for any social activities 

(or any other reasonable answer) 

1 
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 b. Pros (any ONE of the following) 

 She can do exercise without going out 

 She does not need to face others’ comments on her figure 

Cons 

 There will be a risk of getting hurt without the guidance of a 

fitness coach 

(or any other reasonable answer) 

1 

1 

c. Supportive measure for each of the following stage 

Pre-contemplation stage 

 Give Laura more information about her body situation and 

make her realize the importance of a balanced diet 

(or any other reasonable answer) 

1 

Determination stage 

 Set a reasonable target for Laura to reduce her body weight and 

plan her daily menu 

(or any other reasonable answer) 

1 

Action stage 

 Request Laura to report her actual food intake for each meal 

and to measure her weight once a week 

(or any other reasonable answer) 

1 

Total: 6 
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Section B：Issue-based Questions (18 marks for each question) 

The assessment of Issue-based Questions comprises two aspects: Content and Effective 

Communication 

Content: (Max:15 marks) 

The concepts/ ideas provided in the suggested answers serve as guidelines in assessing the content of the 

Issue-based Questions. However, these concepts/ ideas should not be treated as the only acceptable answers. 

Teachers/ markers should exercise their professional expertise in judging whether alternative answers can be 

considered relevant and appropriate. 

Effective Communication: (Max: 3 marks) 

The criteria for the assessment of effective communication are listed below: 

Criteria for the Assessment of Effective Communication Marks 

Awards Planning and Organisation Clarity and Accuracy Relevancy of content 

The presentation of content is 
exceptionally clear. Ideas are 
developed logically in 
paragraphs with clear focus. 
Relevant and appropriate 
introductory and concluding 
paragraphs as well as topic 
sentences signaling the content 
of each paragraph are evident. 

Content is accurate and 
appropriate with few 
misconceptions. Viewpoints 
are fully supported by adequate 
and appropriate evidence/ 
information. Errors are rare 
and the content is easy to 
understand. 

The focus of content is 
exceptionally clear, relevant 
and directly addresses the 
question(s). 

3 

The presentation of work is 
generally clear and easy to 
follow. Attempts have been 
made to organise similar ideas in 
paragraphs. Short relevant 
introductory and concluding 
paragraphs are provided. 

Content is generally accurate 
and appropriate with some 
misconceptions. Viewpoints 
are occasionally supported by 
evidence/ information. Errors 
are evident but the content is 
still understandable. 

The focus of content is 
generally clear. Most parts of 
the question(s) are generally 
understood and answered. 
Irrelevant ideas are present to 
a limited extent. 

2 

The presentation of work lacks 
clarity and is difficult to follow. 
Ideas are expressed in a 
disorganised way with few 
sequencers and connectives. No/ 
irrelevant introduction and 
conclusion are given. 

Content is inaccurate and 
inappropriate. Misconceptions/ 
irrelevant information are 
common. Errors are common 
and affect meaning. 

The focus of content is not 
clear and relevant. Only small 
parts of the question(s) are 
addressed. 

1 

The presentation is unclear, 
unfocused and is impossible to 
follow. No logical order is 
displayed at all. Ideas are 
expressed as isolated points 
without any connections. 

Content is completely 
inaccurate and inappropriate. 
Errors are frequent and detract 
from the message to be 
delivered. 

The focus of the content is 
extremely unclear and 
irrelevant.  Requirements of 
the question are totally 
misunderstood. 

0 
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5. Absolute Poverty: (any TWO of the following) 

 The absolutist approach to defining poverty follows the 

concept of minimum subsistence; that is, those with means 

inadequate to afford a bundle of goods and services that are 

regarded as essential to the physical need of an individual or a 

family are considered “poor” 

 The limitation of this approach is that it focuses on physical 

needs rather than social needs 

 What to include in the bundle of “necessities” and how each 

component should be evaluated involve subjective judgments 

and are contentious 

Relative Poverty: (any TWO of the following) 

 People are living in relative poverty when they lack the 

resources to obtain the type of diets, to participate in activities 

and have the living conditions and amenities which are 

customary in the societies to which they belong 

 The usual measurement of relative poverty is as a proportion of 

the median income in the society 

 However, assessment based on income does not fully take into 

consideration the actual consumption needs of the poor. (For 

instance, it does not take into account non-income benefits 

provided by the Government and other non-governmental 

organizations.) 

2 x (1,1) Award 2 

marks for 

each type of 

poverty 

Limitations of Gini index: (any FOUR of the following) 

 It can only measure income inequality but cannot measure 

poverty 

 It does not include the calculation for opportunities in seeking a 

job, which is affected by social class 

 The Gini Coefficient in rich countries shows the possibilities of 

whether people can buy luxury products or not; while for poor 

countries, it shows whether people can get the basic needs for 

living 

 It does not measure “property” or “investment income” 

possessed by people, but measures the “salary” only 

 In a big country, different states/ counties may have different 

Gini Coefficients 

 It can only estimate one’s income at one point of life but not 

over the whole life span 

4 x 1 
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 It may also be affected by the age distribution of a country 

(or any other reasonable answer) 

Influence of intergenerational poverty on the health of 

teenagers: 

(any FIVE of the following) 

 Physically, they may not get a balanced diet for growth if their 

families lack money to buy food 

 Psychologically, they may have lower self-esteem / self-image/ 

lack of self-confidence because of poverty 

 Socially, there may be fewer gatherings with their peer group, 

which may affect their social life 

 They may not have enough money to participate in different 

learning activities. For example, they may not have the 

opportunities to learn to play musical instruments / to 

participate in learning tours during holidays, etc 

 They may also need to spend time doing part-time jobs for their 

families, which may affect their academic results 

(or any other reasonable answer) 

5 x 1 

Feasible strategies for the government to tackle 

intergenerational poverty: (any FIVE of the following) 

 Increasing financial assistance to help CSSA households and 

other low-income families to get access to basic and essential 

services 

 Encouraging unemployed parents to participate in re-training 

programmes for finding a new job by increasing subsidies 

during the period of the programme 

 A range of comprehensive and universal services covering 

healthcare, education, child care and other support services 

accessible to all of the younger generation 

 Mobilising community resources in building social capital 

among the younger generation 

 Examining existing government policies and strategies and 

improving existing programmes 

 Inviting more business sectors to raise funds for vulnerable 

groups 

(or any other reasonable answer) 

5 x 1 

Max. Mark for Content: 

Max. Mark for Effective Communication: 

15 

3 
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6. Aims of a “healthy city”: 

Healthy community (any TWO of the following) 

 A clean, safe physical environment of high quality 

 An optimum level of appropriate public health and sick care 

services accessible to all 

 High health status 

Caring community (any TWO of the following) 

 A strong, mutually supportive and non-exploitive community 

 A high degree of participation and control by the public over 

the decisions affecting their lives, health and well-being 

 A diverse, vital and innovative city economy 

Ecology and health (any TWO of the following) 

 An ecosystem that is stable now and sustainable in the long 

term 

 Meeting the basic needs (for food, water, shelter, income, 

safety and work) for all the city’s people 

(or any other reasonable answer) 

6 x 1 

Award 1 mark 

for each aim 

Discuss whether Hong Kong is a healthy city 

I agree that Hong Kong is a healthy city. The reasons are as follows: 

Other views (e.g. partially agree or disagree) will also be accepted 

Healthy community (any TWO of the following) 

 The streets of Hong Kong are clean, the hygienic situation of 

the environment is good 

 The medical system in Hong Kong is well-developed. There 

will not be any citizen who cannot get medical treatment 

because of financial problems 

 The average lifespan of Hong Kong people is quite long 

(or any other reasonable answer) 

2 x 1 

Caring community: (any TWO of the following) 

 There are different types of district or integrated services 

centres in every district 

 The government works together with the business sectors to 

raise the Community Care Fund for the well-being of the 

vulnerable groups 

 Hong Kong is a low tax-rate city that attracts business 

investment from all around the world. It’s a free market with 

diverse economic activities 

(or any other reasonable answer) 

2 x 1 
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Ecology and health: (any TWO of the following) 

 Hong Kong has a well-developed sewage treatment system. 

The water quality of beaches and Victoria Harbour can be 

maintained at a reasonable standard 

 Water supply in Hong Kong is stable. The water quality meets 

international standards 

 The government has set up statutory minimum wage, which 

protects the salaries of unskilled staff 

(or any other reasonable answer) 

2 x 1 

The important role of risk management in a healthy city: 

(any THREE of the following) 

Empowerment of citizens in risks assessment and health choice 

 For example, the passing of Hong Kong’s food labeling laws 

enables people to enjoy eating healthy food products according 

to their judgment and choice 

Citizens can decide what precautions are needed to minimize 

hazards exposure 

 For example, wearing a surgical mask whenever delivering 

care to a Tuberculosis patient (an example at individual level) 

Citizens can prevent or have adequate control of hazards 

exposure 

 For example, strictly implementing no tobacco smoking rule in 

public indoor areas such as shopping malls, restaurants and 

cinema, etc 

Citizens can carry out and maintain the control measures 

 For example, consuming consistently low fat diet with regular 

exercise. This can prevent cardiovascular diseases 

(or any other reasonable answer) 

3 x 2 

Award 1 mark 

for each role 

and 1 mark 

for relevant 

description. 

Max. Mark for Content: 

Max. Mark for Effective Communication: 

15 

3 
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7. To gain full marks answers should cover TWO kinds of 
development. The maximum mark for each development is 9 
marks 

Cognitive development 

e.g. Theory/ concept proposed by Jean Piaget 

Sensorimotor stage 

Preoperational stage 

Concrete operational stage 

Formal operational stage 

Psychosocial development 

e.g. Theory/ concept proposed by Erik Erikson 

Trust versus mistrust 

Autonomy versus shame and doubt 

Initiative versus guilt 

Industry versus inferiority 

Identity versus role confusion 

Intimacy versus isolation 

Generativity versus stagnation 

Integraity versus despair 

Psychosexual development 

e.g. Theory/ concept proposed by Sigmund Freud 

Oral stage 

Anal stage 

Phallic Stage 

Latency Stage 

Genital Stage 

Moral development 

e.g. theory of moral reasoning by Lawrence Kohlberg 

Pre-conventional level 

Conventional level 

Post-Conventional level 

18 Award 1 mark 

for the correct 

name of 

theory or 

related 

psychologist 

Award 2 

marks for 

each stage and 

corresponding 

explanation 

(or any other reasonable answer) 

Max. Mark for Content: 

Max. Mark for Effective Communication: 

15 

3 
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